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20159 & 204t

1600 Aol
s 610 g4l
Hg: 611 M=+
= 001 JtE=2 (2 &)
o8- ME -2 ol & o o olpos HREZ
600 AbY =< 34,070,100 29,783,200 4,286,900
610 =+ 33,071,000 29,143,200 3,927,800
611 AIBE 33,000,000 29,053,200 3,946,800
001 JtB & 13,310,000 11,620,000 1,690,000
O JHEE
13,310,000,000& X 14 13,310,000
003 gtz 17,760,000 15,693,200 2,066,800
O «gt=
17,760,000,000& X 14 17,760,000
004 H=EE 600,000 580,000 20,000
O usee
600,000,000& X 14 600,000
005 AtHA B AR 1,330,000 1,160,000 170,000
O &g
1,330,000,000& X 14 1,330,000
661 JIEtE 22 71,000 90,000 A 19,000
002 JIEtAEZ Y 55,000 0 55,000
O AMHelE AME=
55,000,000& X 14 55,000
009 JIEtE A2 16,000 90,000 AT74,000
O Est= Hiii=
16,000,000& X 1& 16,000
670 22l 999, 100 640,000 359,100
671 Ol Kt==< 300,000 100,000 200,000
001 G20l At==< 300,000 100,000 200,000
O 2203 olkt==¢
300,000,000 X 14 300,000
672 Bt A E Y S+ 699, 100 540,000 159,100
001 Let3|HEAZ 699, 100 540,000 159,100
O 3L BX3 (699, 100)
o R =MESLZHEXNE D)
95,300,000& X 14 95,300
o 2RSS D)
88,100,000& X 14 88,100
o StNAIEZ (ML)
515,700,000& X 14 515,700







B0 XHEEAQ
g 1170 =dd=+¢
Mg 171 NaSga4d
= 001 ANE2E=+E (el HA
o8- HE -2 o A o o olpo SimE=E]
100 t=2H == 53,156,931 68,858,000 A 15,701,069
170 =03+ 53,156,931 68,858,000 A 15,701,069
171 NE2E3+E 18,000,000 11,000,000 7,000,000
001 NEZ2E==+¢ 18,000,000 11,000,000 7,000,000
O o=k R ES
18,000,000, 000& 18,000,000
173 Et2l HHE 2 x4+ 35,156,931 57,858,000 N22,701,069
001 FRnEx=z+¢ 29,476,931 53,487,000 N24,010,069
O gHot=xelE 28H SE3A
4,209,000,000& X 14 4,209,000
O d&ot=Xeld 220 SE3At
3,161,000,000& X 14 3,161,000
O 08 BTLAIE AMEHUHE
3,051,518,000& X 14 3,051,518
O 06 BTLAIY AEZUE
7,733,413,000& X 14 7,733,413
O ot==FHl ANBA
11,322,000,000& X 14 11,322,000
002 Etal HHEExS+E 3,000,000 0 3,000,000
O 2LBtalA AEEXS (3,000, 000)
0 St==SEAIBEAE
3,000,000,000& 3,000,000
003 AI=HIEXS Y 2,680,000 4,371,000 1,691,000
O dEXE 2HH SESA
592,000,000& X 14 592,000
O d&xclz 28H SLE3A
632,000,000& X 14 632,000
O ot==ZHIAE A
1,456,000,000&X 14! 1,456,000




